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Consider the following statements :

1. All valid arguments contain only true
premises and a true conclusion.

2. Some valid arguments contain only
false propositions-false premises and
a true conclusion.

3. All valid arguments contain only false
propositions-all premises are false,
conclusion is false as well.

Which of the above statements is correct ?
(a) 1

(b) 2

(c) 3

(d) None of the above

Most actors are celebrities.
Aruna is an actor.
Therefore Aruna is a celebrity.

The above argument is :

(a) deductive argument only

(b) 1inductive argument only

(c) bothinductive and deductive argument

(d) ncither inductive nor deductive
argument

If ‘All youngsters are cricket lovers’ is true,
then what can be inferred about truth or
falsity of the following ?

1. No youngsters are cricket lovers.

2. Some youngsters are cricket lovers.
3. Some youngsters are not cricket lovers.
4. No youngsters are non-cricket lovers.

Select the correct answer using the code
given below :

(a) 1 is false, 2 is true, 3 is false and 4 is
true

(b) 1 istrue, 2 is true, 3 is false and 4 is
true

(c) 1 is false, 2 is false, 3 is true and 4 is
false

(d) 1 is false, 2 is true, 3 is true and 4 is
true

" Consider the following :

1. True premises do not guarantee
validity.

2. A true conclusion does not guarantee
validity.

3.  True premises and a true conclusion
together do not guarantee vaiidity.

Which of the above are correct ?

(a) 1and 2 only

(b) 2 and 3 only

(c) 1and3 only

(d) 1,2and3

Match List-1 with List-II and select the
correct answer using the code given below
the lists :

List-1 List-11
A. AllSis?P 1. SP=0
B. Some S is P 2. SP#0
C. NoSisP 3. SP=0
D. Some SisnotP 4. SP=0
Code :
A B C D
@ 1 2 3 4
M2 1 4 3
1 2 4 3
d 2 1 3 4

Which one of the following is correct ?

(a) When A’ is false, ‘E’ is false and ‘O’
1s true .

(b) When ‘E’ is doubtful, ‘A’ is true and
‘I’ is false

(¢) When ‘Q’ is true, ‘E’ is false and ‘" is
false

(d) When ‘I’ is true, ‘E’ is false and *A’ is
doubtful

(Contd.}
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7. Particular affirmative proposition : i1,

(a) makes claim only about the subject
class

(b} makes claim only about the predicate
class

- (c) makes no claim about the subject class
and predicate class
(d) makes claim that the subject class and

the predicate class have some members
in comimon

8. Match List-I with List-II and select the
correct answer using the code given below

the lists :
List-] List-II 2.
(Valid Syllogism) (Figure)
A. AAA 1. Fig.-1I
B. AQO 2. Fig.-l
C. OAO 3. Fig.-1V
D. 1Al 4. Fig.-1i
Code :
A B C D
fay 2 1 3 4
® 1 2 3 4
© 2 1 4 3
(d 1 2 4 3
9. Allis invalid in Fig.-II because :
(a) It commits the failacy of undistributed 13
middle '

(b) It commits the fallacy of illicit major
(c) It commits the fallacy of illicit minor
(d) It commits the existential fallacy

10. Which one of the following statements is
correct 7

(a) Mood is determined by the position of
the middle term in a syllogism

(b) Figure is determined by the position of
the middle term in a syllogism

(¢) Mood is a psychological state and has
nothing to do with syllogism

(d) Mood and figure are irrelevant in the
context of syllogism

. - 4-

R

Which one of the following staternents is
correct ?

(a) Ali syllogisms are arguments, but not
all arguments are syllogisms

(b) All syliogisms are inferences, but not
all inferences are syllogisms

{¢) Only arguments having two premises
are syllogisms

(d) Only inferences having two premises
are syllogisms

No cows are dogs, no cows are carnivorous.
Therefore all dogs are carnivorous.

This argument is :

(a) valid because minor term is distributed
in the conclusion

(b) wvalid because premises are true

(¢} valid because first premise and
conclusion are true

(d) invalid because of its form

Consider the following argument :
All dogs are mammals.

All cats are mammals.

Therefore all cats are dogs.

The validity of the above argument is tested
(a) SPM, SPM and SPM
(b) SPM, SPM and SPM
(c) SPM, SPM and SPM
(d) SPM, SPM and SPM

(Contd.)
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14.

15.

16.

i
'

Which one of the following statements is
correct ?

(a) In a valid syllogism the middle term
needs to be distributed at least once.

(b) Inavalid syllogism all the occurrences
of the middle term need to be
distributed.

(¢) In a valid syllogism the middle term
needs to be distributed in the major
premise.

(d) In a valid syllogism the middle term
needs 1o be distributed in the minor
premise.

Consider the following argument :
“All dogs are mammals.

No dogs are cats.

Therefore no cats are mammals.”

What is the type of the fallacy in the above
argument 7

(a) Fallacy of illicit major

(b) Fallacy of illicit minor

(c)} Fallacy of undistributed middle
(d) Fallacy of four-terms

Any term distributed in the conclusion must
be distributed in the premises. Which
fallacies are committed if the above rule is
violated ?

1. Ilicit major

2. Illicit minor

3. Undistributed middle

4. Exclusive premises

Seclect the correct answer from the code
given below :

(a) land 4

{(b) 1! and?2only
(¢) 1,2and3
(d) 2,3and4

17.

18.

19.

Which one of the following statements is
false ?

(a) Noreal connection between antecedent
and consequent is suggested by
material implication

(b) Material

decisional connection between the

implication expresses

antecedent and consequent

(c) Material implication is different from
definitional connection between the
antecedent and consequent

(d) Material implication is different from
causal connection between the

antecedent and consequent

What is the central aim of deductive logic ?
(a) To symbolize the arguments
(b) To symbolize the statements

(¢) To discriminate valid arguments from

invalid arguments

(d) To discriminate good arguments from

bad arguments

Consider the following statements :

1. If both premises are particular, then no

conclusion follows.

2.  From two negative propositions only

a negative conclusion can be derived.

Which of the above statements is/are

correct ?

(a) 1 only

(b) 2only

(c) Bothiand2
(d) Neither 1 nor 2

(Contd.)
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20. Sylogistic form AOQ in Figure-IV can not

be valid because it involves the fallacy of :
(a) illicit major

(b)
(c) negattve premises

(d) undistributed middle

illicit minor

For every truth functional invalid argument,
the corresponding conditional statement will
be :

(a) atautology only
(b)

(c¢) either a contingent or a contradictory

(d)

either a contradictory or a tautology

either a tautology or a contingent

The denial of contingent proposition leads

to:

(a) a self contradictory proposition
(b)
(c) a contingent proposition

(d)

a tautologous proposition

a necessary proposition

If the major premise of a syllogism is
particular negative proposition, then the
argument will be in the :

(a) Fourth Figure

(b) Third Figure

(¢) Second Figure
First Figure

24

26.

Which one of the following is not the rule

of ;yllogism ?

(a) A valid syllogism must contain exactly
three terms.

(b) A valid syllogism may have two
particular premises.

{(c) The conclusion of a valid syllogism
must be negative if either of its

premises 1s negative.

If the major premise of a syllogism is
a particular proposition, the minor

premise must be affirmative

Which one of the following commits the

fallacy of undistributed middle ?
(a) IEO in the First Figure

(b)
(c}) All'in the Second Figure
(d)

EAOQO in the Fourth Figure

AAA in the Third Figure

In which of the following figures of
syllogism, an affirmative conclusion is not

possible ?
(a) First and Fourth Figures

(b)
(c¢) Fourth Figure only

Second and Third Figures

Second Figure only
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27. Which one of the following is a principle of

deductive logic ?

(a) If the conclusion is true and the
argument is valid, then the premises
must be true.

If the conclusion is false and the
argument is invalid, then the premises
must be false.

If the premises are true and the
argument is valid, then the conclusion
must be true.

If the premises are false and the
argument 1s invalid, then the
conclusion must be false.

Which one of the following failacies is
involved in the argument ‘No weaklings are
labour leaders, because no weaklings are
true liberals, and all labour leaders are true
liberals’ ?

(a) Ilicit major

(b) Illicit minor

(¢} Undistributed middle
(d) No fallacy

If major premises is particular and minor
premises is negative, then which one of the

following is correct ?

(@) The conclusion is valid

(b) There cannot be any conclusion

(c¢) The conclusion is negative proposition

(d) The conclusion 1is particular
proposition

. The conclusion of a valid argument is

redundant when :

(a) 1ts premises are consistent
(b) its premises are inconsistent
(c) its premises are contingent

(d) its premises are necessary

In the context of modern logic, which of the

following is/are correct ?

1. Particular propositions can be derived

from the universal propositions.

2.  Untversal affirmative and universal

negative both cannot be false.

Select the correct answer using the code

given below :

(a) | only

(b) 2only

(c) Both!land2

(d) Neither 1 nor 2

Which one of the following is the obverse

of “All men are mortal” ?

(a) No mortals are men
Some mortals are men
No man is non-mortal

Some mortals are not men

(Contd.) *
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33. Consider the following argument :

‘Only the students securing more than 60%
marks in the qualifying examination will be
admitted to college Y, all the students of
college X have secured more than 60%
marks in the qualifying examination,
therefore all the students of college X wil!
be admitted to college Y.

The argument commits the fallacy of :
(a) iilicit major

(b) illicit minor

(c) undistributed middile

(d) four terms

All events are things describable by
philosophy.

All mental decisions are events.

All menta) decisions are things describable
by philosophy.

The argument is :

(a) inconclusive

(b) invahd

(c) walid

(d) not a proper syllogism

According to John Locke, which one of the
- ‘following is correct ?

(a) Primary qualities are derived from
sensation and reflection
Primary qualities are the source of our
time consciousness
Primary qualities are unchangeable and
indistinguishable from the material
object
Primary qualities are contingent
features of the material object

36. Which one of the following is nof the view
of Descartes ?
(a) Substance is that which is in itself

(b) Substance is that which is in itseif and
is conceived by itself

(¢) Substance is one and only one

Substance is “an existent thing which
requires nothing but itself in order to
exist”.

Which one of the following is nof acceptable
to Nyaya-Vaisesika ?
(a) Substance (dravya) is the substratum

where actions and qualities inhere

(b) Substances at the moment of their
creation are not devoid of qualities

(¢) Substance is either simple

(niravayava) or compound

(avayavidravyas)

Simple (niravayava) substances are not
subject to production and destruction,
while the compound substances
(avayavi) are

Which one of the following s rof true about
the Mahayana Buddhists ?

(a) The adherents of the Mahdayana do not

believe in the reality of external objects

They are of later origin than the

Hinayana sects

The Mahayana Buddhists talk about

the means for the individual liberation

The Mahdyana claims to represent the
whole truth of Buddha’s teaching

(Contd.)
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39.

40.

41.

Aquinas claims that :

(a) Being and essence are identical in God

i.e.; being is His essence

(b) Being and essence are not identical in

God 1.e.; being is not His essence

(c¢) Being and essence are partially

identical in God

(d) Being and essence are both identical

and different

According to Nyaya-Vaisesika

(a) Consciousness is the essential quality

of the soul

(b) Consciousness is the adventitious

quality of the soul
{c) Soul is pure consciousness

(d) Consciousness is not a quality of the

soul

Manas is eternal and atomic and cannot
come into contact with several senses

simultaneously. This view is maintained by
(a) Sankhya

(b) Mimamsa

(c) Nyaya-Vaisesika

(d) Yoga

42.

43.

44.
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Which one of the following is not acceptable
to Buddhism ?

(a) Perception is devoid of name and
universal

(b) Perception is indeterminate in the first
moment and determinate in the next
moment

{c} The object of perception is Svalaksana

(d) Svalaksana is not apprehended by
inference

Which one of the following statements
correctly defines truth in terms of
correspondence ?

(@) Truth is wholly a matter of
correspondence with fact

(b) Truth is wholly a matter of
correspondence with knowledge

(¢) Truth is wholly a matter of
correspondence with belief

(d) Truth is a correspondence between
judgment and fact '

Consider the following statements :
According to Spinoza :
1. Attribute is “that which the intellect

perceives as constituting the essence
of substance”

2. Thought and extension are the two
attributes, known to men.

3. Each of them (thought and extension)
is “infinite after its kind” but not
“absolutely infinite” like God.

4, Mind and matter are two substances,
having attributes of thought and
extension respectively.

Which of the statements given above are
correct 7

(@) 1and2only
(b) 1,2 and 3 only
(c) 3 and 4 only
(d) 1,2,3and 4

(Contd.)
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45.

46.

47.

Which one of the following pairs is correctly
matched ?

(a) Errorisdueto Prabhakara

COmmMmission

(b) Erroris due to
omission

Kumarila

{(¢) Errorisduetoa Naiyayika
wrong synthesis of
the presented and the

represented objects

(d) Error is due to its Sankara

being describable

Coherence theory of truth argues that the
truth of a proposition :

(a) is a property of its logical coherence
with a body of propositions

(b) is based on verifiability theory
(c) consists in its applicability

(d) depends on the negation of its
contradictory proposition

How does Carvaka account for the basis of
knowledge ?

(a) Knowledge is possible on the grounds
of perception, inference and testimony

(b) Knowledge is due to direct realization
(Saksatkara)

(c) Knowledge is due to six modes of
Jjustification

(d) Sense-perception is the only source of
knowledge

48.

49.

50.
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Consider the following statements :

1. It obtains between substance and
attribute.

2. This is identical with the Nyaya
Vaisesika Samavaya relation.

Which of the statements given above is/are
correct about the relation of aprthaksiddhi
as maintained by Ramanuja ?

(a) 1only

(b) 2only

(c) Both1land?2
(d) Neither 1 nor 2

-

Consider the following statements regarding
Sankara :
1. Maya is the Power of God.

2. Creation is nothing but a

superimposition of diversity on the
Supreme Reality Brahman.

Which of the statements given above is/are
correct ?

(a) 1 only

(b) 2only

(c) Both! and2
(d} Neither 1 nor 2

Nominalism is a theory which says :

(a) that universals are not real but are only
names or words.

(b) that universals are not names.

(¢} that universals are established on
reason.

(d) that universals are concepts.

(Contd.)
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51.

52.

53.

54.

Which one of the following is nof acceptable
to Plato ?

(a) The concept is not merely an idea in
the mind, but it has a reality of its own,

independent of mind.
(b) The concepts are objectively real.
(c) The objective concepts are ideas.

(d) The ideas are things, which are mutable
and perishable,

According to the Nyaya Vaisesikas,

Akasatva is not a jati because :

(a) Akasatva does notexist in @kasa in the
relation of Samavaya

(b) Akasatva is not an eternal property

(¢) Akdsais one

(d) Akasa is a vibhudravya (ubiquitous

substance)

According to Aristotle :
(a) Untversals are substances
(b) Particulars are substances

(¢} Substances are neither universals nor

particulars

(d) Substance is the universal in particular

The ‘Principle of Sufficient Reason’ is
invoked by Leibnitz :

() to explain moral judgments
(b) todemonstrate the freedom of the will
(¢) to demonstrate God’s existence

(d) to show that monads exist

55.

56.

57.

The Advaita Vedantins adopt the
anirvaéaniyakhyativada according to which
in the case of illusion when we say ‘this is

silver’ with regard to a piece of shell, the
object of illusion is

(a) wunreal

(b) real

(c) neither real nor unreal
(d) either real or unreal

Who among the following believes that
‘error’ i1s not misapprehension but non-
apprehension ?

(a) Kumdrila
(b) Sankara
(c) Prabhiakara
(d) Nyvaya

Match List-1 with List-II and select the
correct answer using the code given below
the lists :

List-I List-11
(Theory of Truth) (Philosopher or
System}
A. An i1dea is true when 1. Descartes
it is conducive to
success
B. An idea is true when 2. ldealism

it conforms to the
fact

C. An idea is truc when 3. James
it is consistent with
the system of well
accepted ideas

D. An idea which is
clear and distinct is
true

Code :

4. Locke

A
(a) 3
(b) 4
(c) 3

4

(d)
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58.

59.

60.

61.

62.

How is the knowledge of negation (abhava)
accounted by the Advaita Vedantin ?

(2) By means of sense-perception
(b) By means of inference

(¢) By means of revelation

(d) By means of non-apprehension

‘The Afman by itself has no agency
(akarta)’. Whose view is this ?

(a) The Naiyayikas

(b) The Advaita Vedantins
(c) The Vaisesikas

(d) The Mimamsakas

According to Spinoza man is not free -

because :
(a) Man is made in the image of God
{b) World is mechanistic

{c) Everything in the universe necessarily
follows from nature of God

{(d) Man is sinful

According to Vijianavada Buddhism, the
meaning of pudgala is

(a) matter

(b) life

(c) subjective consciousness

(d) absolute consciousness

Which one of the following is acceptabie

to Berkeley ?

(a) Substance exists independently either
as physical or as spiritual object

(b) Substance is the complex idea of
physical or spiritual object

{c) Substance is the unknown substratum
in which the observable qualities of the
object inhere

(d) Substance cannot be material since the
sense-qualities belong to one’s own
mind or in the minds of other spirits

63.

64.

65.
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Consider the following statements :

1.  The way to nirvana lies through the
faith in jina, knowledge of his doctrine
and perfect conduct.

2. The Jaina ethics lay stress on both faith
and works.

3. Theethical system of the Jainas is more
rigorous than that of Buddhists.

Which of the statements given above is/are
correct in Jaina ethics ?

(a) 1only

(b) 1and 2 only
(c) 2and 3 only
(d) 1,2and3

Consider the following with reference to

Gandhiji :

1. Means are essentially of instrumental
value.

2.  Means are no less important than ends.

Which of the above statements is/are
correct 7

(a) 1 only

(b) 2only

(c) Both1land2
(d) Neither 1 nor 2

Eight-fold path of the Buddha is known as
the ‘middle path’ because it :

(a) does not attach too much importance
to knowledge

(b) attaches equal
knowledge and conduct

importance to

(c) isopen to the clergy and the laity alike

(d) avoids self-indulgence as well as self-
mortification

(Contd.)
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66. Which of the foliowing are included in the
Eight-fold path of Buddhism ?

1. Right knowledge
2. Right resolve
3. Right charity

Select the correct answer using the code
given below :

(a) 1and3only
(b) 2and3only
{c) 1and?2only
(d) 1,2and3

67. Which of the following are included in the
twelve links of the doctrine of Dependent
. Origination 7
1. Avidya and Samskara
2. Nama-ripa
3.  Raga-dvésa
Select the correct answer using the code
given below :
(a) 1 and3 only
(b)Y 2 and 3 only
(¢) 1and2only
(d) 1,2and3

68. Which one of the following is nof acceptable
in the Gita s concept of niskamakarma ?

(a) The agent’s concern is solely with the
action, never with its fruits.

(b) There follows no result from the action
done.

(c) The results cease to be ends because
they are not desired.

(d) There can be no end conceivable apart
from desire.

_22_

69.

70.

71.

function
Code :

A B C
ay 2 3 1
b)) 3 2 1
cy 2 1 3
d 1 3 2

In Jain ethics, triratna refers to :

(@) samyak dar$ana, samyak jiidna and
samyak caritra

(b) samyak smrti, samyak jiana and
samyak ¢aritra

(c) samyak dar$ana, samyak smrti and
samyak éaritra

(d) samyak dar$ana, samyak jhdana and
samyak smrti

Who of the following hold moral judgments
to be non-cognitive ?

1. A Ayer

2. C.L. Stevenson

Select the correct answer using the code
given below :

(a) 1only

(b) 2only

(c) Bothland2

(d) Neither 1 nor 2

Match List-1 with List-ll and select the
correct answer using the code given below
the lists :
List-1 List-i1
{(Concept) (Docirine)

A. Moral judgments 1. Prescriptivism

are either true or

false

B. Moral conflict is 2. Descriptivism
rationally undecid-
able

C. Mora!l judgments 3. Emotivism
have action-guiding

(Contd.)
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72. According to Kant, we ought to treat  75.

73.

74.

humanity :

(a) Sometimes as an end
(b) Never as an end

(¢) Always as a means only

(d) Never as a means only

According to Kant, moral law is

(a) apriori, and based on reason

(b) a priori, and not based on reason

(c) a posteriori, and not based on reason

(d) a posteriori, and based on reason

76.

With reference to Kant, consider the

following statements :

1. Good will is good when it is

accompanied with happiness.

2. Good will does not need anything else
to be good.

3. Any action done with higher feelings 77.

is right.
4. Actions based on reason only are
right.

Which of the statements given above are

correct according to Kant ?
(a) 2and4

(b) 2 only

(c) 1and4only

(d) 2and3

~24-

Constider the following pairs :

1. The only proof that : Mill
a thing is desirable is
the fact that people
actually desire it

2. The greatest happiness : Braithwaite
of the greatest number
i1s the criterion of
morality

Which of the pairs given above is/are
correctly matched ?

(a) 1 only

(b) 2only

(¢} Both1and2
(d) Neither ! nor 2

For utilitarians, what is a morally good
reason for breaking a promise ?

(a) You have other things to do.

(b) No one is obliged to keep promises.

(c) Worse things will happen by keeping
it.

(d) You think that you should not have
made it.

Consider the following statements :

Bentham’s view of utilitarianism is faulty
because :

1. Pleasure is the aim of all actions.

2. Justice cannot be accommodated in his
View,

Which of the statements given above is/are
correct 7

(a) 1only

(b) 2Zonly

(c) Both1land?2
(d) Neither 1 nor 2

(Contd.)
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78.

79.

80.

B1.

Consider the following :
1. Right means according to rule.

2. Right is more fundamental than Good
according to GE. Moore.

3. Concept of right is relevant to
Deontological theory.

Which of the statements given above are
correct 7

(a) 1and2only
(b) 2and 3 only
(c) 1and3only
(dy 1,2and3

Consider the following statements :

1. Life is worth living.

2. Birth and death are the two ends of life.
3. Honesty is one of the prime virtues.
4. Akbar was not the first Mogut emperor.

Which of the statements given above are the
statements of value ?

(@) 1only

(b) 1,2,3and 4
(c) 2,3 and 4 only
(d) land3only

Which one of the following is not a
statement of value ?

(a) Honesty is the best policy

(b) We believe honesty to be the best
policy

(c¢) Never indulge in dishonesty

(d) Letus alLbe honest

Which one of the following is not acceptable

to Psychological Hedonism ?

(a) Almost all human responses, however
altruistic are ultimately based on
selfishness.

(b} A sense of havinig done something
worthwhile is also for selfish motive.

(¢) To get minimum satisfaction one
should act also in others interest.

(d) ‘Selfishness’ does not refer so much
to the expected outcome, but to the
motivation.
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82. ‘Every helpful person who is apparently

83.

84,

trying to do something for you is infact
doing something for himself or herself
instead—you are simply being made the
occasion of that person’s happiness.’ This
view is adopted by which one of the
following ?

{a) Uttlitarianism

(b) Hedonism

(c) Egoistic Hedonism
(d) Emotivism

Consider the following statements :

1. The ultimate end of non-violence is
surest victory.

2. Non-violence may not always be a
universal principie.

Which of the statements given above are
Gandhiji’s views on Ahimsa ?

(a) 1only

{(b) 2only

(c) Bothland?2
(d) Neither 1 nor 2

Consider the following statements :

1. Ordinary moral consciousness reveals
that the ethical value of an act does not
depend on external effects.

2. Good will states only the form which
the will must assume in order to be
good.

3.  Freedom can be found in the world of
phenomena only.

Which of the stateménts given above
correctly represent Kant’s position ?

(a) 1,2and3
{b) 1and 2 only
() 1and3only

(d) 2and 3 only

(Contd.)
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85. Constider the following statements :

1. The moral agent is free in what she
does.

2. She can not justifiably be praised or
blamed for what she does freely.

Under the Compatibilist notion of freedom
of the will, which of the statement(s) given
above 1s/are correct ?

(a) 1only

(b} 2only

(¢) Both1and?2
(d) Neither 1 nor 2

. The meaning of freedom of will is :
(a) No restriction whatsoever

(b) To obey one’s desires

(c) To obey divine commands only

(d) To obey the command of Reason

The freedom of will rejects :

(@) freedom of choice without
predictability of human action

(b) freedom of choice compatible with
predictability of human action

{c) responsibility for action produced in
accordance with a law

(d) we ourselves are free agents bound
only by the laws of morality

. If descriptivism is true, which one of the
following is inconsistent with it ?

(a) Moral words are descriptive in
meaning.

(b) The criteria of application of moral

words are descriptive,
(¢) Descriptions are evaluations.

There are moral facts.

. Consider the following statements :
1. Moral judgments prescribe rather than

describe.
Moral judgments express attitudes.

Moral  judgments are not
universalizable.

Moral properties are supervenient upon
non-moral ones.

Which of the statements given above is/are
acceptable to R.M. Hare ?

(@ 1,2and4
(b) 2and3

(c) 2and4only
(d) 1and4only

Which one of the following is not true of

Jaina dhvana (meditation) ?

(a) Concentrating the mind on the
syllables of Jaina prayer phrases.

(b) To make the mind steady by dhyana,
one should think of maitri (universal
friendship).

(c} One should have universal compassion
(karund).
(d) Jana yoga is not different from the

traditional Hindu yoga of Patanjali or
even of Buddhism.

. Which of the following kasayas (passions)
with regard to Jainism are considered as the
major kasayas (passions) ?

1.  Krodha (anger)
2. Lobha (greed)
3. dvésa (jealousy)

Select the correct answer using the code
given below :

(a) 1and3only
(b) 2and 3 only
(c) l,2and3

(d) 1and?2only
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92. Consider the following combinations :

\.  Astéya, aparigraha, niyama
2. Ahimsa, Brahmacharya

3. Manana, mudita, upéksa

4.  Astéya, aparigraha, satya

Which of the combinations given above are
acceptable in Jaina ethics ?

(a) 1and?
(b 2and4
(¢) 2and3
(d) land4

The main content of Emotivism is that :

(a) there is a rational method to settle the
disagreements in ethical judgments.

there is a rational method to settle the
disagreements in judgments of interest.

(c) thereisno rational method to settle the
disagreements in ethical judgments.

(d) there is a rational method to settle the
disagreements in judgments of belief.

What is the correct sequence of the
following links from the doctrine of
Dependent Origination ?

1. Trsna (thirst for sense enjoymcﬁt)

2. Vedana (sense experience)

3. Sparsa (sense-object-contact)

4. Upadana (clinging to sense-enjoyment)
Select the correct answer using the code
given below :

(@) 1-2-34
(b) 2-3-1-4
(€) 3-2-4-1
d) 3-2-1-4

95. According to Kant, the moral worth of an

action is determined by
(a) the nature of the motive behind the act

(b) the amount of prosperity gained by
means of it

(c) the approval of society
(d) the consequences it leads to

Who among the following philosophers
observed that man is not just de facto a
certain kind of being with certain given
desires, but it is some how “up to” him what
kind of being he is going to be ?

(a) Kant

(b) Isaiah Berlin

(c) Mortin Heidegger

(d) Kurt Baier

“Sthitaprajfia” literally means “Steadfast

intellect”. Which one of the following best

exemplifies 1t ?

(a) Onc who is attached to the infinite

{b) Omne who is detached from all that is
finite

(¢) One who is not affected by the joys and
SOITOWS

(d) One who was overcome one’s passions

In Jainism, the word ‘nirjara’ stands for :
(a) influx of karma

(b) bondage due to influx of karma

(c) stopping of the influx of karma

(d) removal of karma

‘Dukkhasamudaya’ for Buddha means :
(a) Everything is sorrow

(b) Sorrow is of different kinds

(¢) Sorrow, like everything, has a cause

(d) Sorrow is human destiny




92. Frefoiaa o) ox e =it

1. sy, aalus, o

2. afgan, swrad

3. WAH, g, Iue

4, IWY, IORYS, gOF

J9gE gl ¥ S8 99 Aildeme o
et 8 7

(@) 132

(b) 23R 4

(c) 233

(d) 134

. PR F A I B 7

(a) Fow Foimi ¥ swealdl & T @
oy o ugfy 8 21
fea & fofal o smeafoltl & goa &
ol affs afy el 21

(c) Maw Frolmi ¥ meafodl & TamE ®
o =1 anfbe ugfer =t Bt

(d) favaw & FHolal ¥ smeafadl 3 gamE
% fo @fes agfa el 21

.ty Ity & frgra @ gt § FPreafata
w30 = w I R 7
1. gom
2. d&T
3. e
4. IJumHE
Hr Ry g2 =y F w@E IR g
(a) 1-2-3-4
(b) 2-3-1-4
(©) 3-2-4-1
3-2-1-4

95. Fre & FER Bl i #1 Mo gew e

g Pafie g 8 7
(@) =4 & 9 sfure M wEh
(b) T "em & Inia sy w1 o

(c) TAW FT F[HRA
(d) &% frem @ 9fom

. Prfafas § & e seiPe &1 98 abma

g & 7w awge: Rfine g ool awen
Raftrse gk 1 Wig ur T8 8, afew, R
TYE, I8 ‘I9* FUT’’ ¢ & 95 fFg v #
g &3 ?

(a) FFT

(b) amm sRfA

(c) =R sEam .

(d) F

. feomgs’ @ e st B OCRem wer

Prefefa 3 & A9 98 qdierse =9 & Preffa
FEE 7

(a) < T H w1

(b) = &Y adm | P g

(c) = Y@ A g@ & yifaa 16t &

(&) R st aEs # S Rman 24

o Ha ® et v w1 owmoad 8 7

(a) FHage

(b) ﬁ’i’@ﬂmﬁﬁ COR|
(c) FHYEen VA
(d) Fd-=m

99. gg * o ‘gEager’ w1 af g ?

(a) G g@?

(b) 3@ A= v =1 2

(c) BT W9 F B, T& H W FROT 8
@) 3@ =g F Pl e

(Contd.)




100, Samyak karmanta, according to Buddha,

101.

102.

103.

consists in desisting from :
(a)
(b)
©
(d)

stealing

destroying life

improper gratification of the senses
All of the above

The doctrine of niskGmakarma teaches :
(@)
(b)
()
(d)

inaction
withdrawal from action
indifference to results of action

altruistic action

The Eight-fold path gives us an ideal picture
of the Buddhist ethics. Which one of the
following gives us the highest good, the

summum bonum ?
(a)
(b)
()
(d)

Samyak-drsti
Samyak-karmanta
Samyak-smrti

Samyak-éarita

The secondary qualities of a physical
object, according to Locke, are those
properties which :

(a) actually, though only contingentlj,
belong to the physical object

(b) are of secondary importance in
understanding the nature of physical
objects

(¢) do not actually figure in the list of
defining properties of physical objects
(d) actually belong, not to physical objects,

but to our experience of them
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104.

105.

106.

107.

Which one of the following statements
regarding substance is associated with
Berkeley ?

(a} There are things called substances, but
they are unknowable. '
(b)

There are things called substances, and
they are not mere ideas.

(©)

(d)

There are things called substances, but
they are nothing more than ideas.
There is no God as the cause of ideas.

Consider the following statements :

The samavaya relation holds between :

1. substance and attribute.

2.  particular and universal.

Which of the statements given above is/are
correct ?

(a) 1 only

(b) 2only

(c) Bothland?2
(d) Neither 1 nor 2

For Nyaya, *‘God’ (Isvara) is :

(a) Arman

(b) Brahman

(¢) Purusa

(d) Hiranyagarbha

Match List-I with List-II and select the

correct answer using the code given below
the lists : .

List-1 List-1T

(Substance) (Quality)
A. Atman 1. Sneha
B. Prthivi 2. Sabda
C. Jala 3. Gandha
D. Adkdsa 4. Jhana
Code :

A B C D
@ 2 3 1 4
b) 4 1 3 2
) 4 3 1 2
d 2 1 3 4

(Contd.)
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108.

109.

110.

1.

The Buddhist denial of an eternal substance,

spiritual as well as matter is called ;
(a) Sanghata vada

(b) Sarvasti vada

(c) Pudgala nairatmya vida

(d) VijAanavada

Buddhists do not accept pudgala as the

essence of a living being because :

(a) pudgala possesses consciousness but
not activity
(b)

such an essence should be permanent

but nothing is permanent

(¢) pudgala consists of material particles
but actually the essence of a living

being is consciousness

(d) pudgala is accepted by Jainas, so
Buddhists cannot accept it

If a Carvaka accepts an inference that will

be because
(a) its conclusion is verified by perception
(b)

(¢) it is inconsistent with Vedas

its conclusion serves his self interest

(d) inference is an independent pramana

‘Colour is non-eternal as it is audible’ is an

example of

(a) Svariapasiddhi hetvabhasa
(b) Badhita hetvabhasa

(c) Viruddha hervabhdsa

(d) Anaikantika hervabhasa
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112

113,

114.

115.

The Upanisadic statement “Tat tvam asi’
(Thou art that) gives the knowledge of
Atman-Brahman identity through a
particular semantic function of the words
in the statement. That semantic function,
according to Advaita-Vedantins, is :

(a) Abhidha

(b) Laksana

(¢} Wadjana

(d) Tatparya

Advaita-Vedanta admits :

(@) svatahpramanya and svatah
apramanya

(b) svatahprc’zm&nya_ and paratah
apramanya

(¢} paratah pramanya and svatah

apramanya
(d) paratah pramanya and paratah
apramanya

According to Advaita Vedanta, Anupalabdhi
is :

(a) merely a kind of pratvaksa

(b)

(c) a combination of both pratyaksa and

merely a kind of anumana

anumana

(d)

an independent pramana

Correspondence theory defines truth in
terms of the relation between a statement
and

(a) its practical utility »
(b) other statemenis
(c) an actual state of affairs

(d) the mental state accompanying it

(Contd.}
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Directions :—

116.

The following 5 (Five) items consist of
two statements : one labelled as the
‘Assertion (A)’ and the other as ‘Reason

(R)".

statements carefully and select the

You are to examine these two

answers to these items using the codes

given below :
Codes :

(a) Both A and R are individually true
and R is the correct explanation of
A

(b) Both A and R are individually true

but R is nof the correct explanation
of A

(c) A is true but R is false

(d) A 1s false but R is true

Assertion (A): Traditional Square of
Opposition is rescued
under Boolean

Interpretation.

Reason (R} : All the standard-form
categorical propositions
presuppose that the

classes to which they

refer are empty.

=36~

117. Assertion (A):

Reason (R)

118. Assertion (A) :

Reason (R)

119. Assertion (A):

Reason (R)

120. Assertion (A):

Reason (R)

¢ The

Conversion of A
proposition to A
proposition is invalid.

Conversion of A
proposition involves

conversion by limitation.

Syllogism 1s not valid by
virtue of its form alone.

. Any syllogism having the

same form as valid
syllogism will also be
valid.

If the categorical premise
affirms the truth of the
antecedent of the
conditional premise and
the consequent of that
conditional premise is the
conclusion of the
argument, the form 1s
valid.

form
contains a conditional
premise.

argument

Emotivism is not

acceptable.

: It fails to account for the

connection . between
morality and reason.

(Contd.)
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Note : English version of the instructions is printed on the front cover of this Booklet.




